
INSTALLATION AND OWNER’S MANUAL
N5543 for Harley-Davidson
Motorcycles 1988 to current

PARTS LIST

Tools used in all installations:

Wrench, ½"
Hex Key, 3/16"
Wrench 7/16"
Wrench, 5/8"
Screwdriver, 3/8" Flat

Index Description Part No. Qty.
1 Shield, Hand Deflector 20-231004-000 2
2 Plate, Outside 37-370900-000 2
3 Nut, ¼-20 Acorn 42-480000-000 4
4 Screw, ¼-20 x ½, Nylon 50-530500-000 4
5 Bracket, Left 37-370941-000 1
6 Bracket, Right 37-370942-000 1
7 Washer, 5/16" Int. Lock 49-492210-000 2
8 Screw, 5/16"-24 x ½, Flat 51-514504-000 1
9 Washer, 3/8" x 3/16 49-490230-000 1
10 Turn Signal Retainer 42-425010-000 1
11 Neoprene Washer 75-762010-000 4

PREPARATION Pre-assemble parts

MAINTENANCE

Page 1 of 2 10-112041-000 Rev A 02/10

4

11

8

10

To clean the plastic, wash with a clean soft cloth,
plenty of warm water and, if necessary, a non-abra-
sive soap such as dish washing liquid. Flannel or soft
chamois make good cleaning cloths.

Paint, glue residue or grease removal:
Moisten cotton with Naphtha or Turpentine followed
by a wash as above.1. Identify the Right and Left Brackets, items 6 and 5

using the diagrams at right.

2. Select the Right Bracket, item 6 and attach to
Hand Deflector Shield as shown. Insert the Screws
from the INSIDE of the Shield. Place Washers and
Outside Plate over the Screws and secure with the
Nuts. Tighten until snug, do not over-tighten.
(Screwdriver)

3. Select the Left Bracket. Attach item (10), Turn
signal Retainer to Bracket using the Flat Head Screw
(8) and Washer (9) as shown. (Hex Key and 5/8”
Wrench) Attach Bracket Assembly to a Hand
Deflector Shield using same procedure as with the
Right side in Preparation step 2.

NOTE: Left and right side of motorcycle are determined
from rider’s perspective while sitting on motorcycle.

Right Bracket, item 6

Left Bracket, item 5

9

3

2

1

Left Bracket, item 5



©2005 National Cycle, Inc. PO Box 158, Maywood, IL 60153-0158 USA
708-343-0400 / Fax: 708-343-0625 / www.nationalcycle.com / e mail: info@nationalcycle.com

RIGHT SIDE HAND DEFLECTOR ASSEMBLY

10-112041-000 Rev. A 02/10

Stock Turn signal
Retainer Bracket

Page 2 of 2

1. Remove the left mirror. (Wrench ½") Retain the
stock nut and washers.

2. Remove the turn signal from the stock turn signal
retainer bracket shown in above photo. Store retainer
bracket in a safe place. It will not be re-used.

3. Position the left Hand Deflector Assembly onto the
mirror stem from below the handlebar. Make sure the
small hole in the Hand Deflector Bracket aligns
with the alignment pin in the clutch lever perch.

4. Install the original nut and lock washer onto mirror
stem.

5. Adjust the left mirror and tighten the nut to 12 ft-lbs.
torque.

6. Reinstall the left turn signal into the Turn Signal
Retainer.

1. Remove the right mirror, (Wrench, ½"). Retain the
stock nut and washers.

2. Place a Lock Washer (7) between the Bracket and
the brake lever perch.

3. Position the right Hand Deflector assembly onto
the mirror stem from below the handlebar.

4. Install the original nut and lock washer onto the
mirror stem, finger tight.

5. Adjust the Hand Deflector and mirror.

6. Tighten the mirror nut to 12 ft-lbs. torque.

LEFT SIDE HAND DEFLECTOR ASSEMBLY

7


